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IBEEEN 5 | 17 | 720 266 33 36.9 1 |femks 5 | 17 10 3 2 30.0
2 |EREE RS 5 | 17 | 710 244 52 34.4 2 [EmsE A 5 | 17 11 3 2 27.3
3 | Mk 5 | 18 | 711 235 46 33.1 3 | Mzt hs 5 | 18 43 9 9 20.9
4 | BBERAS 5 | 18 | 737 228 35 30.9 4 |BmEm AL 5 | 18 48 9 3 18.8
5 | BRIk 5 | 15 | 576 160 51 27.8 5 [EEAE AR 5 | 17 26 4 2 15.4
6 |EmsEAS 5 | 17| 774 212 61 27.4 6 |Emkm A 5 | 15 32 3 4 9.4
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1 A 5 | 17 | 720 36.9 | 263 | 3 | 266 1 |EREEAS 5 | 17 41 2. 41
2 |EEFEEAE 5 | 17| 710 3.4 | 20 | 4 | 244 2 | Mtk 5 | 18 35 1.94
3 | AR 5 | 18 | 711 33.1 | 226 | 9 | 235 3 |EmEmAs 5 | 18 2 1.44
4 |RIsERKE 5 | 18 | 737 3.9 | 219 | 9 | 28 4 |EEgE A 5 | 17 2 1.41
5 [sEmgE RS 5 | 17| 774 27.4 | 209 | 3 | 212 5 |ER kA 5 | 15 17 1.13
6 |EmRAL 5 | 15 | 576 27.8 | 157 | 3 | 160 6 |[@Emx 5 | 17 19 1.12
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1 |[EEkhEXS 5 | 17 {406 | 25 | 120] 30 [ 11.1 1| ANt Rs 5 | 18 | 346 | 247 | 0 | 99 71.4
2 [sEmKE 5 | 17 |40 ]| 16 | 155 | 45 | 109 2 |EmsE LS 5 | 17 [ 315|247 | 0 | 128 65.9
3 | RIsERAE 5 | 18 |30 ]| 14 |01 ]| 12| 93 3 [rEmK 5 | 17 | 305 | 196 | o | 109 64.3
4| Mk 5 | 18 | 389 | 22 o4 | 30 | 9.2 4 |EEKEAS 5 | 17 [s12]197] o | 115 63.1
5 |EmAL 5 | 15 | 214 | 11 85 | 33 | 8.8 5 |ER kA 5 | 15 [ 321|200 | o | 121 62.3
6 [sERBE RS 5 | 17 [356| 13 |[100] 38| 86 6 |EIBEm AL 5 | 18 | 325|201 | o | 124 61.8
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